
Epicykloida – predĺžená c > r >0, R >0

x = (R+r) cos rt
R − c cos (R+r)t

R , y = (R+r) sin rt
R − c sin (R+r)t

R , t∈R.

x = (R+r) cos ϕ− c cos (R+r)ϕ
r , y = (R+r) sin ϕ− c sin (R+r)ϕ

r , ϕ∈R.

x = 17r
8 cos 8t

9 − 5r cos 17t
9 , y = 17r

8 sin 8t
9 − 5r sin 17t

9 x = 17r
8 cosϕ− 5r cos 17ϕ

8 , y = 17r
8 sinϕ− 5r sin 17ϕ

8
t∈〈0 ; 18π〉 ϕ∈〈0 ; 16π〉

R = 9r
8 , c = 5r

beerb@frcatel.fri.uniza.sk http://frcatel.fri.uniza.sk/ beerb

mailto:beerb@frcatel.fri.uniza.sk
http://frcatel.fri.uniza.sk/~beerb



